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WEST BENGAL STATE UNIVERSITY 

B.A. Honours Part-III Examination, 2019  

PHILOSOPHY 
PAPER-PHIA-VII 

Time Allotted: 4 Hours Full Marks: 100 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

GROUP-A 
িবভাগ-ক 

Answer Question No. 1 and any two from the rest within 600 words each 
১ নং pű ও অন° �য-�কােনা dিট  pেűর উtর দাও pিতিট ৬০০ শেbর মেধ° 

1. Answer any four questions from the following within 150 words each: 
িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাও pিতিট  ১৫০ শেbর মেধ°ঃ 

5×4 = 20

(a) Why are words conventional sign? Briefly discuss following Hospers.   
শb �কন pথাগত িচh ? হসপাস�েক অনুসরণ কের সংেkেপ �লেখা।  

(b) What is the distinction between ambiguity and vagueness? Why are the following 
words vague? 
(i) inhabitant (ii) fast 
d°থ�তা এবং অsŶতার মেধ° পাথ�ক° কী ? িনmিলিখত শbgিল অsŶ �কন ? 
 (i) বািসnা   (ii) drত 

 

(c) What is propositional knowledge? What are the necessary and sufficient 
conditions of propositional knowledge? 
বাচিনক jান কােক বেল ? বাচিনক jােনর pিত আবিশ°ক ও পয�াp শত�gিল কী কী ?  

2+3

(d) What do you understand by freedom of stipulation?  
শb pেয়ােগর sাধীনতা বলেত িক �বােঝা ? 

(e) Explain briefly the referential theory of meaning of words. 
শbাথ�-সংkাn িনেদ�শক তttিট ব°াখ°া কেরা। 

(f) What are innate ideas? Why does Locke not believe in the existence of innate 
ideas? 
সহজাত ধারণা কােক বেল ? লk �কন সহজাত ধারণার অিst sীকার কেরনিন ? 

(g) What is Category Mistake? 
pকার িবÇম কী ? 

(h) What is persuasive definition? Explain with suitable example. 
pেরাচক লkণ কী ? উপযুk উদাহরেণর সাহােয° ব°াখ°া কেরা।  
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2.  (a) Explain with examples the distinction between defining characteristics and 
accompanying characteristics. 
লkণসূচক �বিশŶ° ও সহগামী �বিশেŶ°র পাথ�ক° উদাহরণ সহেযােগ আেলাচনা কেরা। 

5+4+6

(b) What is the importance of this distinction? 
এই পাথ�েক°র grt কী ? 

(c) What type of characteristics is mentioned in the following propositions? 
িনmিলিখত বচনgিলেত �কান জাতীয় �বিশেŶ°র উেlখ আেছ ? 
(i) Uranium is used in atomic bombs. 
 ইউেরিনয়াম আণিবক �বামা �তরীেত ব°বhত হয়। 
(ii) Tall people are also attractive. 
 লmা মানুেষরাও আক�ষণীয় হয়।  
(iii) Squares have equal four sides. 
 চtেŴােণর চারিট সমবাh থােক। 

  
3. What is realism? Differentiate between naive realism and representative realism. 

Justify whether representative realism is acceptable.  
বstবাদ কােক বেল ? সরল বstবাদ ও pিতrপী বstবােদর মেধ° পাথ�ক° িনrপণ কেরা। pিতrপী 
বstবােদর gহণেযাগ°তা িবচার কেরা। 

2+3+10

  
4.   What is ostensive definition? Discuss the necessity and limitations of ostensive 

definition. Determine which of the following words can be defined verbally and 
which of them can be defined ostensively. 
(i) change (ii) red (iii) fear (iv) again  
pদশ�ক লkণ কােক বেল ? pদশ�ক লkেণর pেয়াজনীয়তা ও সীমাবdতা আেলাচনা কেরা। িনেmাk 
শbgিলর �কানgিলর শািbক লkণ �দওয়া সmব আর �কানgিলর pদশ�ক লkণ �দওয়া সmব তা 
আেলাচনা কেরা। 
(i) পিরবত�ন (ii) লাল (iii) ভয় (iv) পুনরায় 

5+6+4

  
5. What is the relation between a word and the object denoted by the word? Discuss 

after Hospers. 
শেbর সােথ শb dারা িনেদ�িশত বstর কীrপ সmn sীkত ? হসপাস�েক অনুসরণ কের এর ব°াখ°া দাও। 

15

  

 GROUP-B 

িবভাগ-খ 

 Answer Question No. 6 and any two from the rest within 600 words each 
৬ নং pű ও অন° �য-�কােনা dিট  pেűর উtর দাও pিতিট ৬০০ শেbর মেধ° 

6. Answer any four questions from the following:  
িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) How does Russell distinguish between appearance and reality?  
রােসল কীভােব অবভাস ও তেttর মেধ° পাথ�ক° কেরেছন ? 



B.A./Part-III/Hons./PHIA-VII/2019 

3088 3  Turn Over 

(b) Distinguish between definite description and indefinite description. 
িনিদ�Ŷ বণ�না ও অিনিদ�Ŷ বণ�নার মেধ° পাথ�ক° িনrপণ কেরা। 

(c) Briefly discuss Russell’s views on proper names.  
ব°িk নাম সmেক� রােসেলর মত সংেkেপ আেলাচনা কেরা। 

(d) Explain in brief Plato’s theory of universals. 
�pেটার সামান° সmেক� মতবাদ সংেkেপ আেলাচনা কেরা। 

(e) How do the idealist philosophers, Leibnitz and Berkeley, explain the concept of 
matter? —Discuss. 
ভাববাদী দাশ�িনক লাইবিনj ও বাক�েল কীভােব জেড়র ধারণািটেক ব°াখ°া কেরেছন ? আেলাচনা কেরা।  

(f) What is meant by ‘uniformity of nature’? Discuss after Russell. 
‘pkিতর একrপতা’ বলেত িক �বাঝায় ? রােসলেক অনুসরণ কের আেলাচনা কেরা। 

(g) Does Russell admit the philosophical view, namely truth is man made? Discuss 
briefly. 
সত° মানুষ সৃŶ — এই দাশ�িনক মতিট িক রােসল sীকার কেরেছন ? সংেkেপ আেলাচনা কেরা। 

(h) Discuss in brief Russell’s view about the value of philosophy. 
দশ�েনর মূল° সmেক� রােসেলর মত সংেkেপ আেলাচনা কেরা। 

  
7. Distinguish between knowledge by acquaintance and knowledge by description. 

What things, according to Russell, are known by acquaintance?  
পিরিচিতমূলক jান ও বণ�নামূলক jােনর �ভদ িনণ�য় কেরা। রােসেলর মেত আমােদর �কান �কান বstর 
পিরিচিতমূলক jান হয় ? 

10+5

  
8. How can we justify the principle of induction? Explain after Russell. 

আেরাহ নীিতেক কীভােব আমরা ন°ায়সñত ভােব সমথ�ন করেত পাির ? রােসলেক অনুসরণ কের ব°াখ°া 
কেরা। 

15

  
9. Distinguish after Russell between sense-data and sensation. What, according to 

him, is the relation of sense-data to the physical object? — Discuss. 
রােসলেক অনুসরণ কের ইিndয় উপাt এবং ইিndয়ানুভােবর পাথ�ক° িনণ�য় কেরা। তাঁর মেত, ইিndয় 
উপাt ও �ভৗত বstর মেধ° সmn কী ? আেলাচনা কেরা। 

5+10

  
10. ‘Universals do not exist but subsist or have their being’— Discuss after Russell. 

‘সামান° gিলর অিst �নই িকnt িবদৎমানতা আেছ অথবা তােদর সtা আেছ’— রােসলেক অনুসরণ কের 
আেলাচনা কেরা। 

15

 
——×—— 
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